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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG. - DLM - SEMESTER- VI EXAMINATION - WINTER 2012

Subject code: 361905 Date: 01-01-2013
Subject Name: Industrial Management
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authenti

Q.1 (@) Define Industrial management and explain its various functions.
(b)  What is Organization structure? State and explain its type.

Q.2
(&)  Write short note on factors affecting Job satisfaction.
(b)  What is inventory control? Discuss any one inventory control model.
OR
(b)  What are the functions of stores management?
Q.3

(@) Calculate the Economic Order Quantity (EOQ). Given the following
Annual usage=50 Units, Procurement cost= Rs. 15 per order Cost per unit=
Rs 100, Inventory carrying cost=10%
(b)  What is the importance of PPC (Production planning and control)?
OR
Q.3 (@) Derive the equation for finding EOQ (Economic Order Quantity).
(b)  What is scheduling? Explain the Gantt chart.

Q4
(8) Construct the PERT diagram and find the Critical path and Duration.
Activity Required Expected time in
predecessor days

A 3
B A 4
C A 6
D A 4
E B 5
F C 3
G D 7
H F,G 3
[ E,H 2

(b)  Explain the terms (A) Event (B) Dummy activity(C)Critical activity

OR
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Draw network diagram for the project data given.
Activity Required
predecessor
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Explainl) Critical path 2)Free float 3) Three time estimates in PERT

What is value analysis? State its importance.
Explain the ABC analysis.
OR
Discuss any case study on value analysis.
Write short note on Material Requirement Planning (MRP).
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